ESE ] 20214 (M 34F) ~20234F (HF5E) Fi5
ES2Y) * * N N B/ B/ L IOYANY. (IO VAN
—————————— & B < FE B | HE k- X E - | HE: g | F B | E: g < E - | ———<HE: -
02E 79,156 £FH 20,695 2 EF 58.28 £[F 32,575 £H 43532 £F 10,374 & [F 19,776 & [F 22,201 2H 21,068
138t 89,084 | F#iE™H 27,075 |f@8# 77.16 =& 39,257| K& 54476/ fHF ™ 13,634 3R tH 24,953 FH&RTH 26,702 K:ETH 25,862
2\ #himh 88,960 | ¥riam 26,224 | Friath 73.76 fHF ™ 38,686 3R 52,632| &R 12,555 B 24,688 | KiET 26,461 | FRERTH 25,364
3|&iR™ 87,080 FRETH 25,527 | B¢ [E ™ 72.98 K 38,222 BT 51,982 | 1R H 12,454 K:ZH 24,286 3R th 25,1213&H 24,397
4| ZUH 86,928 Rl 25454\ = LUt 72.97 3R 37,575 | E ™ 50,506 =B 12,396 T 24124 ™ 25,052 #1FR LT 24,170
5 AR 86,535 ;EHATH 25,377 ;E¥ T 72.39| KPR 36,069 | F0FR LT 50,482 | &R 11,923 | &R TH 23,144 LT 24,955 ¥A LU 24117
6| KiEMH 86,334|t2H ™ 25,272 | RI&H 69.43| R R AR X &R 36,036 =B 50,285 K;EHh 11,761 |F 03 LTH 23,131 |t2[@ ™ 24,897 KPR 24,025
7\ K 85,215 & 249832 ETH 69.35 FOFR LU 35,826 KRR 49,315 R A X &R 11,734/ B E™ 23,085 L& 24,559 | [ LT 23,543
8| FRE ™ 84,820\ LU 24,715 |IUfsH 67.80 FEEh 35,722 | LUTH 48871 5 TH 11,643 AR 22,618 KR 24527 RI&GTH 23,446
9 MEIERET 83,993 ALIRTH 24,470 | B ™ 67.63 [ E&TH 35,714 | [R T 48,791 B ETH 11,596 &¥ATH 22,321 FEmH 24522 t28@ ™ 23,423
10| RiI&™ 83,248/ Lz 23,953 | FNFr U™ 66.98 [#LLTH 35499 & HE™ 47795 KRt 11,542| € R 22,209 #0Fr LT 24,332 ;E¥ATH 23,072
11 ER™™ 83,206 &R 23,811 3R 66.72 =Rt 35,307 | K& 46,141 FnFrLH 11,494 X h 22,209 | ELV=FETH 24305\ &t 22,828
12| #0 kLT 82,976 FNFr LT 23,529 | ALIETH 65.67 £RH 35,233 ;EfATH 46,102 tBHE[RETH 11,424 BELH 21,839 | R R ABX £ 24,302 HF T 22,671
13|#F™h 82,876/ t2E&m 23,328 | &R 65.12 SLVi=FTh 34,806\ [ ETH 45818 &%0th 11,375| 2 UTH 21,499 Ri&mH 24075 XR™ 22,009
14|#&ETH 82,392 Kprth 22,920 BRERTH 64.68 f2[E™H 34,780 |#&ETH 45546 ELUTH 11,357 | I B H 21,489 | ¥A LU 23,869 | EET™ 21,929
15|&LV=FH 82,203 tHHE[RETH 22,604| E R 63.87| fBIE[R 34,435 &R 45036 fETh 11,329 |#EH 20,964 ;E¥ATH 23,366 =L =F T 21,768
16 | B R ABX AR 81,898 | B[ 22,223 |BEATH 63.34 Friath 34,151 | FEmh 44,742 FEH 11,200| & LLtH 20,925 %R 23,309|;EH 21,705
17 2HEM 81,685 &R 22,196 |1H#E[R T 62.47 #ETh 34,049 ¥ 44545 [LBTH 11,155 #:8H 20,832 | BB 23,167 &R 21,660
18| FEH 81,668 | BB 21,711 | KEH 61.65 RIGTH 33877\ EUTH 44,435 #FiEth 11,137\ #8TTH 20,671 &Fiath 23,014 FEH 21,308
19 )15 81,082 EERE™ 21,573| FE&HF™ 61.40 B HE™ 33,875/ 44,398 I B H 11,048 )1 &H 20,615 tBHE R 23,010 BiHE™ 21,295
20 =B 81,010/ db vl 21,500| I BT 60.87 fEETH 33,716 | TR R X &1 44085 EHTH 10,906| [ &TH 20,236 fEETH 23008 EIRET™ 21,284
21 |ILUfsh 80,677 | KiETH 21,235 KRR 60.12 )11 I5TH 33,437 5t 43,842 ¥\ ITH 10,856 ;EH¥ATH 20,148 =R 22910 ¥R 21,164
22|[LET 80,427 BT 21,108|#3 I 60.04 ELUTH 33,217 @™ 43,521 )1l I&tH 10,809| lLAOH 20,128 | #&ETH 22,720 B BT 21,134
23 | [T 80,403 REATH 21,074 Kot 59.72 ;E¥ATH 33,136/ ET™H 43476 fEETH 10,709 | FEH 20,056 | JI[1&TH 22,628 #riamh 20,988
24\ f@HH 80,235| Ik B 20,926 | BiHE T 59.46 LU TH 33,127\ &LVM=FE T 43,342 FE#EH 10,544 | BRI &R X &R 19,818);2H 22,470 B4R 20,890
25 gitE™ 80,153 |#Emh 20849 EIRE™ 58.56 | Rilt&™ 32,829| I BBy 42,955 |[E LT 10544 ;&th 19,761 |88 [E™H 22332 f8HTH 20,599
26|25 78,797 E¥ ™ 20,809 |fliE T 58.46 ;ETh 32,821 LA™ 42,886 L V=F T 10,502| SV =F 19427 B HETH 22,279 |}&ET 20,479
27LEH 78,668 1| I& T 20,747 At Al T 58.28 &% 32,155 | Fiath 428122 10,352 | K&t 19,419 & TH 22211 EUth 20,432
28 &R 78,631 A ET™ 20,555 | KEF 57.34 & 32,015 BB 42597 1LAt™H 10,031|fEE™H 19,312| EUH 21,859 | R ERX &1 20,398
29 | fLiE 77,764 SULNM=FETH 20549 & ™ 57.33 5¥ATh 31,799 )1 I& 42,574 {&RE™H 9,884 5 40TH 19217|48HH 21,741 1lLAtH 20,076
30 E¥FTH 71,7113 & #H™ 20,421 |FHETH 57.12 &%0tH 31,580 | FiitE™ 41,475 5™ 9,823 lET 18,581 B fFtH 21,657 I B 19,988
31 BFFHh 77,583 B & 20,319| &R 56.15| I BB 31,437 5% 40,983 liETH 9,804 | E%[EH 18,137 /At LN T 21,650 {l& T 19,978
32|l BTh 71553 FE™ 20,073|SLV=F T 55.90| FH& = 30,951 ¥\ 40,932 Bl 9,801 ¥ 17,951 BIRE™ 21,1188 19,950
33|FH =T 76,964 t2R@ ™ 19,986 | F &= T 55.70 AL fuin T 30922 | EEIRET™ 40,918 ;E#ATH 9,770 & E=ETH 17,939 | BE A H 21,070 B fFH 19,935
34| LUth 76,885 & ™ 19,868 BZHET 55.60 LLATH 30,860 dt ALl T 40,455 HiItB™H 9,663 #ALLTH 17,926/ lLOTH 20,829 &t 19,805
3B\ EET 75,652 =B 19,532/ &ERBtH 55.59 t&FH 30,765 KEF 40,209 kP TH 9,339//)kKF 17,905 E¥mh 20,664 | Jk AL 19,671
36 SATH 75,634 L& 19,465/ lLOTH 55.32 FAFFTH 30,646 L& 40,085 #L1EH 9,315/ BEATH 17,866 | F &= T 20,407 REFh 19,576
37 BHM 75,496 ALt 19,416 B fFTH 55.28 EEnH 30,402 | REARTH 38,783/ il 9,272 BitET™ 17,536/ I B H 20,390 | B%[H 19,430
38/dk umth 75,353 BRI AR X &R 19,396| El&TH 54.62 KErTH 29,666 FHEH 38,645 ¥ ILTH 9,258 & 17,345 =40t 20,205 EE T 19,040
39 #MiITh 75,233 #E ™ 19,348 | FE™H 54.58 BT 29,636 & Z0tH 38,572 R F;™H 9,190 dt fuin T 17,155 &t th 20,156 | JI[&TH 19,037
40 FRF;™H 75,230 EEH 19,285 |1 ETh 5457 ERE™ 29,340 £ & 38,4551k &EmH 9,057 |t2RE ™ 16,956 {E &t 20,078 BEATH 18,984
41 ER 74,554 &5 19,117|J11 5 54.36 ¥ TTH 29,255 t8H 38,088|t28H 9,024 BRZFTH 16,914/ BEARTH 19,920 FH=H 18,708
420;2H 74,330 [ BT 18,881 |{&[EH 5405 {EE™ 29,135 R 37,924 ¥t 9,002 (L1EH 16,576 B ELTH 19,496 E 5 TH 18,364
43|50 74,224 ¥ HET™H 18,662 | = 4&0TH 53.56 REATH 28,727 | B 37,284 ERRFTH 8,989 | BX[ETh 16,444 K5 th 19,332 & 40tH 18,185
4 ERET 74,076 FHE T 18,479|7KEH 53.24 BRERTH 28,337 BB F;™H 37,117|BE AR 8,808 |f2F 1643185 19,307 | #L 1R vH 17,978
45 ¥ luth 73,939 X9 18,468 |[L & 53.14 | ALIRTH 28,196 | AL1ETH 36,904 t2 & 8,755\ BH & 16,198 ARERTH 19,147 #EATH 17,974
46 1LAT™H 73544 EET™H 18,423\ BT 5207 {2 E&Th 28,062 = & 36,178/ IUfz T 8,577 B FTH 16,029 | = I h 19,007 X 17,804
47| gEARTH 72177/ lLOT 18,234 |fHF TH 5158 Ko th 27844\ Ko th 36,086 | B ™ 8,565 Kyt 16,016 | #Li%EtH 18,880 FRE/H 17,378
48| FETH 71,734 KETH 18,038 & #ath 51.06 B 271311 kKFEtH 36,015 F&H&™ 8,526 EEIRETH 15972 5 #HH 18,440 #ATH 17,288
9B 71,160 LU 17,237 | LTH 49.06 JKETH 26,988 FE&H& ™ 34,750 KHpth 85132 ETH 15,894 ¥ T TH 18,398 & & 17,198
50 KF T 69,443 ;Fm 16,386 ;2™ 49.00 H&HH 26,966 FXHT™ 34,075 EgtH 8,304| Lz TH 15,648/ )KE TH 17,648/ 7)KEtH 16,601
51 B &H 69,087 &t 16,106 2R F &R X &B 48.66 | LUFsTH 26,166 {25 33,099 EERET™ 8,223| =A™ 15,410 lLUfizh 17,589 {2 &TH 16,373
52| K&t 68,058 | [ LT 15,918 |#81uth 48.24 FXATH 25,459 LUz 32,735/ #ET 7,918 #ATH 14,904 AT 17,541 Lz th 15,983




w4 202145 (A3 F) ~2023F (HF5E) Fiy
$a%E $0%8 E5EA-FIE E5EA-FIX BES5EA-FIX BE5EAFIX INRA INRA REELE
—————————— KE BD- —HE: - | <XF B |——HE: g | HKF - | HE - | X B | ——<HE: - |—<F -
0 £H 20,153 £H 35,037 | £EF 3,617 £H 10,489 £ E 2212 &EH 3,046 £=F 1,368 £FH 3213/ 2= 4503
1WHH 25,101 | Lz 39,731 | & 6,294 S#ATH 18,984|FX AT 4348 lLfzTH 5,757 | R AR X &R 1,722 &LM=FTH 4,217\ BRI ™ 6,530
2| BERETH 23,506 ST 39,258 | RiltE 4,681 FnFR L 13,948 & TH 3,420 #xATH 56721 ETH 1,689 #/ETh 4137 lUsTH 6,030
3| FET™ 23,348 FnFr L 39,026 R ¥ 4589 K;ETH 13,596 | lUFsTH 3,335 Frimm 4,313|)1|I&H 1,677 )11 TH 4105 FFHFH 5,710
4 B5HM 23,302 & 38,852|lLUfizTh 4580 HERTH 13,505 F LUTH 3,260 ELUTH 4,206 Frimm 1,665 HHERETH 4,097 FNETH 5,697
5 $imm™ 22,858 | BE[E™H 38,570 B HET 4,485 3Rt 13,3148 3,044 S¥ATH 3,956 | SLVf=FE T 1,642 R HB X &R 4,069 #Friamh 5,185
6 =Z U 22,596 | KBprth 38,473 | FR&RTH 4283 LU 13,117/ #8TH 2,807 #&ETH 3929\ [L & 1,551 |78 3,892 ELUth 5,163
7f2B&m™ 22,490 K& 37,984 3R 4,164 K 12,809 | fE & 2,677 BERET™H 3,849| FHETH 1,543 F#RETH 3,864 £iRH 5,090
8 &t 22,305 it 37,902 R fFH 4,144 ERRTH 12,525 ZBh 2,652 E¥h 3,746 FEth 1,519 FEmh 3,809 1i& 5,082
9 R 21,497 FF™ 37,868 | K& 4047 HETH 12,116 |#EtH 2,627 F&H™ 3,625 fAHR[R 1,509 | B8 [ TH 3,698 B#[E™H 5,022
10L& 21,414/ Z U 37,700/ £ ;R 3974 :Fm 11,960/ 25 2538 t2ETH 3,583 | t&[E 1,455 AL H 3,580 B ET 4993
11F#=mH 21,182 fR#Z[R" 37,365\ F ™ 3,887 AL EM 11,559 | B[ 2,524 #LigH 3,566 @B 1,453|[LE™H 3,453|ELV=FE T 4972
12|#ETH 21,084 &LV-FH 37,137| KR 3872 EFth 11,406|t83 2432 EETH 3,434 | &M@ 1,449 FR#RTH 3,386 #&ETH 4,948
13|#£RH 20,992 E¥h 37,025|t2H ™ 3,796 &R 11,374 E¥mh 2,343 I B 3373 B HET 1,431 JE¥aTH 3,366 | R AR X &B 4942
14 #8IH 20,837 #&ETH 36,596 | ¥ I 3,789 £RBh 11,281 |F#ETH 2,327 &WV=FH 3,360 ¥ I 1423 =Bt 3,364 | BRE;TH 4927
15|&LV=FH 20,766 | [ LU 36,305/lLAT 3,742/ 1lLAth 11,110/ F&HF ™ 2,310 28 3,323| &R 1,417 |$&8[H 3,355 FH =T 4,863
16 )11 20,550 | RiltE ™ 36,205\ =L =FE 3,737 lUFsth 11,067 |55 H 2,244 FHEETH 3,291 E5 1,406 [ LUTH 3,352 {2 & 4,834
17 2HEM 20,528 #KETH 36,154;#H 3,671 |HI4E™ 11,052/ RE™ 2,240 3T T 3,273| K& 1,400|Rii¥B™H 3,307 | ERfFTH 4,794
18| KB 20,519 | FR&RTH 36,026 |tHIR[R T 3,658 #AITh 11,037 R &R X &R 2,234 HitE™H 3172|BEAKTH 1,395 BEARTH 3,307 R¥h 4774
19 HHEE T 20,400 | AL1RTH 36,008 E LT 3,642 ¥ LTH 11,021 | #L 1R H 2,225 tR¥E[RE T 3113 AR 1,384 B Emh 3,277 ¥ Ith 4,698
20 EBpFTh 20,380 HHET 35,871 | #XHT 3,616 EHRFTH 10,927|%€RtH 2219 FEH 3,056 L& 1,367 | 2R H 3,230/ ;ExTh 4,621
2138t 20,315/l 35,588 | FE™ 3,600 [LETH 10,598 |Ril#ETH 2217/ 1lLAtH 2,974|:FH 1,363 {l& ™™ 3,228 J1|I5TH 4,576
22 Kt 20,132|FH =T 35,436| FHETH 3,551 = &0th 10,469 7K B TH 2,204 T 2,963 | #LiRH 1,354 ¥ th 3,224 [ BT 4557
23 [LET 20,103|[L & 35275\ R 3532 ELUTH 10,430 FEH 2193 EIRET™ 2,946 | ¥ LTH 1,343|f8E™ 3219 FEH 4548
24 R 20,052 #ATTH 34,882 | H&™ 3,527 &LVi=FH 10,412/ )1t 2,169 L& 2913 =R 1,326 R¥rmh 3,206 Hit&™H 4,466
25 HREAX &R 20,022 FEH 34,842 K TH 3,505 tRHE R 10,344 2,129 ;&M 2,874 RiIfET™ 1,325 KBt 3,191 ;& 4,465
26 RiItE™ 19,955 S Hh 34,774 #21lUth 3505 &t 10,218 | K& 2,120 AL A Th 2,854|lLufsTh 1,321 K#EMH 3,182 fRIE[E 4,429
27| FEH 19,887 &R 34,745 5 H0TH 3481 fAET™ 10,090| lLAH 2,078 &R 2,840 ;EWATH 1,316 FfFTH 3,122 R 4,351
28 | #LIE 19,589 |f8 & 34575| K BT 3,462 ;E¥ATH 9,810\ &LV=F T 2062 =BTH 2,839l B 1,304 5 &% ™ 3,065 KEM 4347
29 B 19,450 ;E#ATH 34,542 |1 ETH 3,460 FEH 9,510 #H#&E[R ™ 2,053 tEE™H 2,824 ElLUh 1,300| EHh 3,055 I B 4,340
EI=NT 19,428 =Bt 34,331 B 3414\ 8™ 9,396 | I B2 7 2,010/;ExTh 2,808 | B[ 1,299 &Rt 3,051 R 4,330
31|t 19,210| )11 33,969 |JI[I&TH 3411 KFth 9,383 #ALLTH 1,990 )KFtH 2,803 BT 1,298|;#MH 2,993 ALt 4,262
22\luATH 19,089 ;& H 33,604 | F0Fr LT 3,408 & 9,290| AR 1,969 | & LU 2,778 MUt 1,295 Uz ThH 2948 KFETH 4,240
33;&mH 19,034 B FTH 33,381 | BT 3,365 | BT 9,221 BT 1,955 |88 H 2720\ RE™ 1,286 | KR th 2,947 | ALIRTH 4216
34 AT 19,013/ LA 33,339 [ LUTH 3,357 | FEET™H 9,196 T 1,950 J1| I T 2,699 KT 1,275 #3luth 2906 E=RTH 4178
35| AR 18,999 | BRI &R X &B 33,316 ;E¥ATH 3,344 FATH 9176|4E 8™ 1,923 3R 2,643 RI&™H 1,264 I B 1H 2,896 3R H 4,170
36 RIG™H 18,953 | fHFTH 33,237 | R AR X & 3,297 | ALIRTH 9,128 ;E¥ATH 1,916 ZHE™ 2,631 S 1,252 3Rt 2,891 f8HH 4,159
37 &% 18,808 #ALLTh 32,700|t2 & 3,287 Ik BT 9,046| [ ETH 1,914 RIG™H 2,574 At il 1,228 AL AL T 2,882 Kfrth 4,146
38|)KF T 18,801 I BB 1H 32419iE™™H 3,252 & #&™ 8,998 LETH 1,889 KiEMH 2,572 #kAT™ 1,226 IR & 2,879 #1Fx1Uh 4,097
39 ;EMATH 18,719 F&[H 32,405 fEETH 3,251 )1l TH 8,913 iR 1,875 BELH 2570 #ET™H 1,225 R 2,866 #ALLTH 4,043
40| I B Th 18,708| R I tH 31,672|[E™H 3,232 #ETh 8,743 K:ETh 1,865 | B &R X & 2,546 H&H&T 1,217 4&& ™™ 2,853 HPETh 3,975
41 f0Fru 18,680 EEIRETH 31,313 | ALIRTH 3199 {/EE™ 8,723 | EEARTH 1,844 B FFTH 2,506/ lLAT 1,211 K5 2,827 &¥TH 3,859
42| f@FH™H 18,477/ /KB tH 31,022| =& 3,193 f2H 8,707 | FnFx L 1,806/ [L&TH 2,501 KPR 1,182 FKEATTH 2,789 t2fE™H 3,806
43 #AlUTH 18,327 {&REH 30,866| b AuiM 111 ERET 8,669 [ LLTH 1,798 | ¥ ILH 2444 |1EE™H 1,180 ARER™H 2,777 EETH 3,724
44 fEETH 17,777 At i h 30,587 | B4 3,084 R ARX &R 8,556 B HET 1,797\ 3R &R tH 2,388 3R 1,179 Zluth 2,768 BIRET™ 3,599
45 |{&[ ™ 17,770 fE&™H 30,487 | Fimth 2,800 f&REH 8,555| A fF 1,789 | #0 8k LU TH 2,366 KXo 1,175/ Hh 2,756/ lLATH 3,427
46 IR ET™ 17,7338 H 30,223| Ri&mH 2,794 REARTH 8,534/t i 1,764 |t H 2,149/ @@ H 1,136/ ILAOTH 2,725/t Al 3,344
A7T{EE™H 17,456 | REARTH 30,089 |t2fE T 2,782 AL A Th 8,506 | {2 1,751|BEARTH 2,117\ 5™ 1,135 #0FxLUTH 2,690 KHoth 3,322
48 L A 17,406 & %0H 29,742 | EEIRETh 2,741 | ElgtH 8,474 KRt 1,719 KB h 2,043 550 1,125 E T 2590 & 3,244
49 | RERTH 17,255 FRERTh 28,932| K4 2,658 RI&TH 8,138| =& 1,573|#FTHh 1,994| B & 1,108 &= &0tH 2,383 REARTH 3,237
50 =5 H 16,660 K% hH 28,616|{E&E™ 2,645 Koth 8,075 =41 1,485 K5t 1,988 fEE™H 1,094/ f8FHH 2,208 S 50TH 3,224
51| Knth 16,454 | = 5 tH 28,202 | g AR TH 2,470 &R 7,968 AR ERTH 1,384| & %0th 1,954 #0Fr L H 1,067 &#ath 2,208 | E&tH 3,211
52| ARERTH 15,669 f2FH 27,908 BB E ™ 1,953 BRERth 5245 K 1,334| =& tH 1,900 BRERTH 1,066 fE&TH 2,108 {E&™H 3,131




w4 202145 (A3 F) ~2023F (HF5E) Fiy
hEfE APk i APk i ENfE%E BfE%a thD%EEE fhafasa thDFRFE thDFX$E
———————— HE: go- ———<F K- | HE: g < F K- | HE: g < FE K- | E: g < FE K- | ————<HE: g>-
0 £E 8,698 £[F 5,522 | & E 4379 £[EFH 2224 &F 2,830 £F 707 | £E 704 £[EF 5,733 &F 8,421
112%™ 12,144 & &HH 7,496 | F#&T 5,937 BT 3212 BT 4238 fEETh 1,097 | #ETH 1,210|£;RH 7,046 3R 10,243
2 BE&M 11,718 2B 7198 & 5,506 {E&E ™ 2,887 & 3998 {EET™H 1,025 fB#E R H 1,118 KiEm 6,745 K& 10,239
3|z 11,542/ Ll& 7,077 |Fiath 5,446 | = 40TH 2,805 | fERTH 3,687 &R 989|JIlI&tH 1,011 =Bt 6,744 2R 10,072
4\ FRERTH 11,1728 6,975 |2 &t 5,330 ¥\ T h 2,722 & 0H 3,678 JIlIgTH 977|f8E&™ 1,045 B HET 6,726 =R 9,976
5 $imm™ 9,769 LUz TH 6,928 | B[ TH 5,286 REATH 2,720 aTH 3413 R ANX &R 970 IR AR X BB 1,000 B#E R H 6,555 HHIE R 9,757
6|SULV=FET 9,598 | B¥[@th 6,777 | LR 5,269 ILOTH 2,650 ¥A:T T 3,368 E%[E™H 943 | & [H T 984 I B th 6,482 £iRth 9,625
7182 EEH 9,556 | KPR 6,446 | KR 5,236 KHoth 2614 Kot 3,363 T 899 |SLV=FE 944| R ANX &R 6,445| K& 9,591
8| #ET™ 9,503 S 4Ah 6,270| LUz TH 5,198 #Friamh 2592 E&H%M 3,315 | BE[ETh 870 FEmh 932 t&EET 6,409 ;EMTH 9,468
9 L&E 9,501 | ELUTH 6,175| & =Th 5135 LB 2,585 E U 3,311 |&LV=FTH 851 | &% 913 EUh 6,402 SLNf=FETH 9,326
10 F0FRLTH 9,347 F& =T 6,164 EI&TH 5,077 KB 2,557 KPR 3277 FEH 849 R ¥ hH 824| FH# = TH 6,353/ Ik B 9,157
11F#=mH 9,287 #LiH 6,009 = LLUTH 4,953 {&RfEH 2,557 | t&[E 3,226 LUz TH 836 |tz 807 |JII&tH 6,348 ;& 9,117
12 HHEE ™ 9,144 FxATH 6,007 | 3R 4893 ELtH 2,525/ ILA 3212 KETMH 797 & 742 [ TH 6,257| = LU 9,099
13| R ABX AR 9,139 3Rh 5,862 FAEH T 4,863 LM 2503|EE'RET™ 3174 FH=H 779 FEETH 742|3R 6,212| FEm 8,976
14| @il4&™H 9,082 HFFTH 5814 & %0t 4822 1Rt 2,483|1RH 3,143 R¥h 779 HF ™ 732|t2RE™H 6,095 )1 I& 8,967
154K 9,029 RIGTH 5,718 fAHR[R 4673 BHH 2,446 | Z 5T 3114 737\ KiEH 720|;EH 6,088 | BB 8,956
16 K¥F ™ 9,006 L& 5,690 fA LT 4552 S¥TH 2,428 5¥aTh 3071 B HE™ 685 B ET 673 AR 6,082 |1 /K 8,923
17| #L1R T 9,000/ ff] LU 5676|[5 & 4490 EIRE™H 2,422 At il 2973| Ik BB 681 |fLIE T 673 SLV=FH 6,081 KFx 8,896
18| BT 8,990 fR#E[R 5,644 | F0Fx U™ 4,484 )1|I5TH 2,340| K& 2,968 #LigtH 678/ /KT 672 FEH 5,987 |t2RE 8,891
19|&/Rh 8,857 EFh 5,607 R fFH 4471 | ELLTH 2,338 | [ LT 2,959 KFTh 657 | RItE™ 654 ;EHATH 5,973 [T 8,665
20| ;Efamh 8,854 lLOTH 5,532 | &R h 4,451 KZEH 2,330 =R 2,951 f&fE 652 I B H 643|fFE 5830 F&# =™ 8,607
21| FEHh 8,811 FnFrLth 5521 &R 4,356 ‘F & TH 2,300 #2Llumh 2,935 &R 647 3R 634 L& 5774 XHn 8,559
22 FRRETH 8,777 EWh 5474 EETH 4307 ERT™ 2,279 f0Fu 2912 EBRFTH 628| B fFH 633 RF 5,741 LR 8,552
23| Ki#EMH 8,685 &;Rh 5458 REFTH 4,290 #ALTH 2,238 Kl&H 2,886 ;EHATH 624 3 1lUth 603 fEETH 5,736 BRERTH 8,507
24 2 ETh 8,599 FHE™H 5407 {8 4,254 FFR LT 2,235 [T 2879 ER 608 ;EfATH 596 | [L & 5,730| §% A T 8,498
25 KBt 8,595 JI|I&TH 5,399 |REARTH 4251 | #FTH 2233/ T 2,864 ;FmH 599 | {2 590 Frimamh 5,727 BB 8,426
26 I B 8,517 K& 5,345 K;ETH 4,239 HERTH 2,220 SLV=FET 2,862 KRRt 598|[L & 585 | ¥AiITh 5,725 ¥ LU 8,413
27| [EH 8,504 ELVi=Fh 5,313 |#&Eh 4,182 R 2,216 J1I&TH 2,857 &t 598/ =B 582 |f@F T 5,720 lLA T 8,395
28|\ ITH 8,364 )KF T 5,302 | FEH 4163 SLV=FETH 2,191 | BE[EH 2839 B&HM 596 | Frimh 576 KBxth 5,707 BEART 8,360
29| BRFTH 8,321 {kE™hH 5,249/ )15 4144 &Rt 2,188| Lz 2,821|1RH 582|i&m 561 ARERTH 5,697 BRIRERX &R 8,348
30 8,314 FEm 5222|)KF T 4,125 #ETH 2,167 =& 2,786 |RiltET™ 578 & &% 557 RiIt&™ 5,658 & 8,276
31 EBH 8,309 ##ETh 5,094 I B 4122 ;FH 2,156 ;& 2,754 L& 573| KR 556 K H 5617 LUz 8,168
32| Mluth 8,282 REATH 5,047 ;EMATH 4112 8B 2,156 | &R 2,738 KHoth 564 |F0Fx U™ 551 | &% 5,538 K& 8,074
33| RIFTH 8,250 HHE™ 5,024 |FItET™ 4101 | &R 2,141 {26 2,716 H&RTH 550/ K4t 549 Jb T 5,525 dt Ll 8,069
34;EMH 8,244 fEETH 5017/ lLA™H 4,083 tHIEERET 2,118|¥B¥&E R 2,632 #ETH 549| &L 538| AL MR H 5510 #3:T 8,005
35 )11 TH 8,195 ¥\iTth 4,989 At i T 4073 2 ET 2,112lEH 2,624 FnFrL™H 546 |4t LM 507 | LLUfizTH 5,457 #1FxLtH 7,976
36 AT 8,131 HitB™H 4944 fEETH 4034 lLfsTh 2072|fEET™H 2,620 EEATH 543 FXETH 504 | ERRFTH 5449 fEET™ 7,976
37 AT 8,127 EIRET™ 4940 =LV =FTH 4,002 I B 2072 E¥ 2,619/ dL A h 534|FEARTH 494 ERETH 5429 )KF ™ 7,950
38 [T 7,940 At LM T 4922 =Bt 3947 fEET™ 2,062 |l B 2,607 EUH 532| & taTh 476 SATH 5424 EIRET 7,867
39 fER™H 7,710 ;E¥A 4879;FH 3,926 R mARX &R 2,060 & ETh 2,596 #AUTH 526| %R 472 BB 5418/ [ & 7,849
40 KFTH 7,542 | =& 4,864 2R ™ 3,913 E#ATH 2018/ B E™ 2,568 KI&TH 511 {EE™H 450|1LOTH 5,361 | R fF 7,808
41 ER 7,386 =Bt 4853 EIRET™ 3,907 iETH 2,010/ #kETH 2547 ERE™ 506| = LU 449 Ko th 5,291 &R 7,770
42/1LAtH 7,356 fRFE T 4,844 ¥ UTH 3,892 EE¥rh 2,000| R HAR X 2B 2,508 [#ELLTH 484 E'RETH 437 #lUth 5247 ™ 7,760
43| ERET 7,330 I BB Y 4839 2 HET™ 3,892 FEh 1,957 ;E¥ATH 2,496 S¥TH 455 | &R TH 424 REAXRTH 5120\ ¥t 7,756
VAr=% Niil 7,284 | R ERX &R 4,797 Ko th 3,866 FH =T 1,955/ f8HFH 2,494 1LAOtH 449 | fEETH 421 | &R 5038 f2&Th 7,548
45 {EE™H 6,809 KH 4,788 | E G TH 3,848 {EHTH 1,954 | LR TH 2,438 & 441 | S50 418 RIG™H 4,965 Frimth 7,519
46 | At AT 6,732 f2[E™H 4,767 M ETH 3,816 FFFTH 1,913 |55 2,393 fEET™H 431luOHh M3 FFR LT 4,940 | BE[E TH 7,518
47 BT 6,674 S TH 4713 & 3,761 #LiRH 1,908 F&EH 2,391 B 420 RI&TH 403 2 & 4917 %85 7,283
48 |f@H™H 6,603 #ALTH 4,682 ¥ ITh 3,719 FkETH 1,906 FEH 2,319 550Th 418 3T Th 3711 | FFHET 4,807 BT 7,245
49| BEKRTH 6,318;&mh 4651 |f8FHm™H 3,665 F#ME™H 1,903 B fFTH 2,315 El&H 411 | Bl 357 B I&T™H 4,797 | E&tH 7,168
50| Knth 6,271 f8FH 4,638 R R ARX &P 3,541 FETh 1,774 /548 TH 2,277 ¥¥ITh 410/f2#H 340 S %0H 4,719 BFHH 7,126
51| = & H 6,270 BRERTH 4,295 AR 3,408 HitE™ 1,743/ )KFEH 2,159 fEHh 362| =5 313{4E™ 4,702 S %0tH 6,213
52| &51th 6,091 HA&RTH 4242 R FHTH 3311 KETh 1,616/ BRERTH 2,040 FRF/TH 269 | ARERTH 249|#xATH 4,265 FxATH 6,132




ESE ]
INEHR INEHD ) ) hDBFEDZ D hOBFEDZD
—————————— K& BD- —<HE: g |———<F B |—HE: g | E E- |—<HE: -
0 £H 657 2E 2,256 £ F 1,702 £F 2,162 &F 3,374 £ F 3,932
1 R¥&h 989 EEm 3,774| &Rt 3,065 &Rt 3,145\ KiETHh 4241 K#EH 5,204
2 EBH 787/luOT 2,715/ 88HH 2,786 I B th 3,021 |#&ETH 4129 =BTH 4,944
3iEM 773 ;R 2613 ELUTH 2,786 E LU 2,967 J1|I&TH 4,107 3Rt 4,741
4l 772| ER™ 2,562 |l B 2312 {8HH 2,849 =B 4,058 t&ETH 4,659
5 KiEmh 745 ;&M 2,524 FriEth 2,159 HHiEET 2,796 FRERTH 4,014 Il TH 4,607
6| IR&RT 730 HI4E™H 2,511 |#A¥&E[R"H 2,101 B HEmH 2,734 B EHE™ 4007 2 ET 4,601
7| EH™ 729 Ko 2496 ZHE™ 2,043 Fiat 2,692| R FARX B 3,982 ;E#ATH 4,600
8 ¥aluth 723/ BEATH 2,470 mARTH 2,039 FEH 2,641|F& = 3,908 FREFrTH 4,600
9|RIIET™H 7173 2459 =R 1,899 3RthH 2578 SLVf=F ™ 3,832 2™ 4,492
10|/[L&™™ 714\ [EUTH 2,446 | R 7 AR X B 1,854 ;FH 2,566 fB1% R 3,824 SLVi=FTH 4487
11| X5 mH 708| E R 2,435 1,846 | lLUfizH 2,530|1RH 3,806 | fRIZ[R 4,442
12 E¥T™H 693 tRIE[R T 2,425 |ILUfsTh 1,836 REFH 2,465 | @ LUTH 3,803 KBRTH 4,337
13| LRz 682 &R 2,418 BT 1,821 |#Emh 2,431 |{2RE ™ 3,802 LUt 4257
142 HEH 676 faLLH 2411 | FH#EH 1,820 4L tH 2,379 ;EMTH 3,797 FEH 4,216
15|€R™H 675 B E™ 2,405 |[#LUTH 1,800/ &L =FTH 2314/ ET™H 3,775 Ky th 4,205
16 fEARTH 675 KiEth 2,388k 1,776 R ERX &R 2,309 | fEE T 3,723 fEET™H 4,188
17| 5™ 655 AR 2316 FEH 1,759 |88 [ tH 2,267/ lET™ 3,680 FHE=TH 4,159
18|[E LT 654|[L B 2,305 K& 1,758 1| 2252\ [ & 3,633 T 4,123
19 )15 652|IUfiz T 2214/ db il 1,737 gil4&™h 2,237\ FEH 3,615 HIfE™ 4,109
20 @B 650 JKF ™ 2,208 | #¥ITh 1,720 KFrthH 2214\l B 3,560 R R AR X &B 4,101
21 | B[ 647 L% 2,189k 1,714/ =B 2,210/ KRR 3544 KETH 4,067
22t 641 FEH 2,188 #Fr1LTH 1,707 F#ETH 2,206 EIRET™ 3478\ [L BT 4,030
23 #iITh 634/ =L=FETH 2,187 R 1,707 | #08k LU TH 2,202;&MH 3,469 HEATH 4016
24| fAEER 630| Ik B 2,179 4R 1,667/ LlE™™H 2,165 BiltB™H 3423 L& 4,014
2538t 630 f2[E ™ 2,162| {28/ 1,652 ZR&RTH 2,148 3T 3,371 3,984
26 #LIR™H 628 ¥ I 2,160 SLV=FH 1,624 BEtH 2,091 | F5mE™H 3318 EIRE™ 3,963
27 )kKF 628 HE&Hx™ 2,155 | LR 1,613/ )KF™H 2,076| &R TH 3,314 I Bh 3,956
28|&LV=FE T 626 K& 2,117 |8% @™ 1,601 BEIRE™ 2,050 %R 3,305 | F# ™ 3,952
29 fEET™ 625 KFr 2,109 )1|&H 1,589 & 1,987/ kBt 3,275 BfFTH 3,917
30 FH=EH 625 )11 1& T 2,108 EHRTH 1,560| R ¥ th 1,940 | #L 1 tH 3,268 RI&tH 3,883
31 RIGH 620 FOFRILT™ 2,106 | KRR 1,553 #2uth 1,940 K& th 3,265 &R 3,871
32| g% ™H 619|8#RE™H 2,101 | S 1,551 b i h 1,920/ lLO 3,260 f2E&Th 3,864
33 |4EET 613 &iATH 2,081 HI#E™ 1,517 ;B 1,903 AL v 3,227 | #LgH 3,841
34 FEH 61328 2,049 fHFTH 1,492\ ¥ TTh 1,893 | BEKTH 3,223 #AUTh 3,802
35| B 611 BX[H 2,049 LETH 1,484 | BEfATH 1,889 & #aTh 3,218 /AL Al h 3,785
36/LET 611{lET™ 2,043 ;E¥ATH 1,483 &#ath 1,858 & %0tH 3,153 5ATh 3,772
37 KB 609 £ E ™ 2014 RIGH 1457 @Bt 1,818 BELH 3,128/ lLATH 3,763
38 R ANX &R 609 EE™ 2,002 ¥t 1,432 P 1,809 R fFTH 3,099 ¥ Tmh 3,705
39 B 603| &40 2000 EE'RE™ 1,417 KZE™H 1,794 | #a1uth 3,093 HARTH 3,686
40 #RETH 602 FkH T 1,999 {8 ™ 1,401 | FEuth 1,793 | B[ h 3,066 = 5 tH 3,671
41F&FT 600 = & 1,990/ fEE™H 1,389/ & H 1,717 B¥h 3,046 RErH 3,601
42 F0FRUT 592 fAFE T 1,989 [L & 1,384/ fEE T 1,667/ = IUTH 3013 ELUh 3,595
43\ #Fiam™ 589 |1 /ET 1,975/ lLAaH 1,329 K&t 1,655 |#Fiam™ 2,978 B 3,586
44| ZIF™H 571 | ARgRT™H 1,961 | &[T 1,324| Kot 1,611 E&H 2,972 | #1Zx LT 3,576
45 fHET™H 563| = LU 1,939 K& h 1,319/ L@tk 1,594/ f25™H 2,962 | BE[E ™ 3,559
46 1EE™ 560| R AR X &R 1,891 |f@E&™H 1,304 FERTH 1,578| E&H ™ 2,960 HFH 3,411
47 L A 560 At LM T 1,877 | E&T™H 1,254 &% 1,574 lLFzTH 2,939 | lLUfisTh 3,393
48 ERET™ 534\ ¥t 1,865 F#&H 1,248 B F;h 1,483| RI&TH 2,888 fEE ™ 3,365
49 ERRFTH 528 EIRE™ 1,843|BEATH 1,222 #EATH 1472|158 H 2,741 S50tH 3,334
50| & &ATH 526 F&RE 1,840 | BRERTH 1,193| =& 1,464 | F0FRLTTH 2,641 Friamh 3,290
51 f8Hh 504 | R 1,713 #AT™ 1,178| L& 1,445 | F AT 2,485 f&@Fh 2,874
52| ARERTH 4902 FHH 1,519 &%th 1,040| & %0Th 1,120/f8F#H 2,429 FATH 2,713
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